
Winters Performance Products, Inc 
1580 Trolley Road
York, PA USA 17408
(717) 764-9844
www.wintersperformance.com

P/N 6789L
31 Spline
Lock up 
Plug Kit

© Winters Performance Products Inc.
See current catalog or visit web site for limited warranty & venue provision. 
WP381A     (p/n6789L)

© Winters Performance Products Inc.
See current catalog or visit web site for limited warranty & venue provision. 
WP381A     (p/n6789L)

1
2
3

1
1
1

31 Spline Lock Up Plug (2")
3/8 Split Lockwasher
3/8-24 x 1 1/4" SHCS

6789L
7121
7998

# Qty P/N Description

1
2

3

Winters Performance Products, Inc 
1580 Trolley Road
York, PA USA 17408
(717) 764-9844
www.wintersperformance.com

P/N 6789L
31 Spline
Lock up 
Plug Kit

1
2
3

1
1
1

31 Spline Lock Up Plug (2")
3/8 Split Lockwasher
3/8-24 x 1 1/4" SHCS

6789L
7121
7998

# Qty P/N Description

1
2

3

Winters Performance Products, Inc 
1580 Trolley Road
York, PA USA 17408
(717) 764-9844
www.wintersperformance.com

P/N 6789L
31 Spline
Lock up 
Plug Kit

1
2
3

1
1
1

31 Spline Lock Up Plug (2")
3/8 Split Lockwasher
3/8-24 x 1 1/4" SHCS

6789L
7121
7998

# Qty P/N Description

1
2

3

Winters Performance Products, Inc 
1580 Trolley Road
York, PA USA 17408
(717) 764-9844
www.wintersperformance.com

P/N 6789L
31 Spline
Lock up 
Plug Kit

1
2
3

1
1
1

31 Spline Lock Up Plug (2")
3/8 Split Lockwasher
3/8-24 x 1 1/4" SHCS

6789L
7121
7998

# Qty P/N Description

1
2

3

© Winters Performance Products Inc.
See current catalog or visit web site for limited warranty & venue provision. 
WP381A     (p/n6789L)

© Winters Performance Products Inc.
See current catalog or visit web site for limited warranty & venue provision. 
WP381A     (p/n6789L)


